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1 Draw the Axial, Shear, and Moment Diagram of the structure ABC in Fig. 1. (30%)
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2. In the first question, if all the vertical loads are not existing, only the horizontal load of 3 kN still
remains, what is the deflection at point C. (30%)

3. Calculate the member force in members AC, CE, and BC of the truss system in Fig.2. (20%)
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4. If member DE in Fig. 2 is under compression, what is the buckling load capacity of the member if the
member cross section is shown in Fig. 3 and assume E=200 GPa. (20%)
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